[ Efficiency vs vertpos |

~ 0.5

SR SRR S — S—
g E : : :
S 04 [RR R LAl R AR
8} r . . .

B 0.35F e feorfeeeees 20 ERRR o

effici

0.3 e R R 20 RS e

0.25F oo R SRR 2R TR e
0.2F - R0 RIRRE ] IR e
L R A Rt oafreeed e
O+ IR PR 20 ERR SRR
0.0BF-+eseeresieresieenss oferee

o : : :

T r :

o L

e

0.95

107 1 2

=
2
N

10 0
TP vertr (cr%)

—=— DOM_old
Efficienq —s— pQm_vo001_R000000001__Global__CMSSW_X_Y_Z_ RECO

=
)

T
:
:
:
L]

X SN St s S e S

efficiency vs vert z

s s e
T s s s ot

e ST e

Ratio

=
T T
]

093~ =20 -10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

~ 05

> NN DUt DU SUSLUUUE I L T
i T A S S A R

£ é o
(%) 0-4;_"'5 """ A
20.35F bbb
P Eoooos s s
[ R S S S S S S I
o E . & oo e
E0.25F b b
o S A S S

o
N
I
B

L SR N 0 (SN S S
I TR - SO0 5 O

0.05

Ratio

=

Ul

172 3 45
Sim. PV z (cm)

QT T T T
|

AF-

w v

ns H

N

|

=

o

0.95



	Contents
	Page 1


